AR FEITIRIE RS S S R RS

=% WlER KB
A . 249 H26H (1)

OZ+ENE
T (Tatami 1,2) ((k%%ﬁﬁf(iiaaiml)‘lmiT)
il s W R i R
1| B it k¥ A g 18. 64 6
: 2| O & W F D IANLT T 22.28 3 7—F 21.68 5
i 3|y B’ E&Y I<b == 20.00 5
Slalmom | oW oP B ok ST 17. 14 7
! 5|/ fk e ®m b A =— 21.26 4 |Fxsvvsr—sars—| 20,34 7
: 6| W i A F 22 I T T 23. 50 1 | A==y oty 23. 02 2
7 A =R R A SN Ty 23. 30 2 |Fxsvsr—sarr—| 2280 3
8| HEVE i b A T—rSq 21.16 4 | A==y g 19. 60 8
: 9| ¥ JII R B 4B NyHA HA 22.10 3 | Ferrrs—vers— 20. 74 6
?tl 10| 5 B B BE I R R i 18.78 7
; 11] 8 5 K e f wEF IANLT 5 23. 34 1| A—s8—=Y oty 22.34 4
! 12| FEFM K w # W I T T 20. 42 6
’ 13| W R B % W & I T T 23.28 2 T—F 23. 06 1
14| EKH FrRE H»PIF TNV T 5 20. 46 5

N . MY Bk GBI 26 - R 22 GHIS)  3hL: R Ay ORES) 4067 S #rH (iR

@B TE N
(Vi H 1345 Tarami 4 7 F T)
v iE| 22 B4 /%@(Tatami/;,Z) _ _ ?}%%(Tatam/iEZ) _
B4 513 (IEfT) B4 73 5 (IEAL)
L A R [T S - T = IANT 7 19. 40 6
2| %2 T e OB 9 IANLT 20. 58 4 | R—s—y g 20. 86 6
: 3| W & sk R g 19.92 5
; Al om| B ok W oE ST 21.32 3 7= 20. 16 7
T 5| KM R % TNV T T 16. 54 8
116 = # 7 w R TN T T 22.98 2 T—F 23. 60 3
T W Wi %% IV Ty 23. 80 1 | A==y oty 24. 82 1
8| mHE ST QR S INNLT 5 18. 52 7
9| BHHEIKE t3] w2 =3 21. 48 4 T—F 20. 04 8
10| ¥ i B4R A R INNT T 23.74 I e 24. 20 2
Tl s g HO®OW K =R 19. 20 7
a
; 12| b o M R, =g 20. 14 5
Tl mom | #oe ®mox TNV T 7 19. 88 6
2 | 14| FRHEE ® M & W =5 23. 08 2 | A==y g 21. 68 5
15| ¥ (1T S ;- SN INNT T 22. 88 3 | A==y g 22.36 4
16| A ER il B & W INNT T 18. 74 8

U G B (AR ofn : BA8 BEpk (Mhilmse) 3z : MR R (=9 4 sk O (iR




SN 2 R

@ AT

o 37 B el R v S R 2R T

HiRTHERS

IN4E
=Y

i o A

A SHR24E9H 26 A (1)

(ENEN

il S
0|3
T1-3
203
T2 T2-1
103
T1-1
1 3 4 5
i = E[] 5] i
i : HOWw 2 Al R 3L By OHE 37 MR
@ BT
Al R
203
T1-3
203 1
T1-2 T2-3
342 144 302
T1-1 T2-1 T2-2
1 2 3 5 §) 7
ES i i E[] 5] iz]
H
T
i : AR 2f TR 3L B 3fr: EHT¥¥



w

B2 3TV MR E IR 2 TR THERES
245 HRER KB
A2 SF249A26 H (L)

O TFEAEF
—
TR KFE () —— &5 EWOER B 12
T1-445 % 0|T2-5
2 R 6
2 X HN IR S e | K —— L A = ¥ 13
T1-146 | 2|T2-1
o 0 T1-8)5 — 5 . N
3 AR = CPNLE= s " B b b5 FESL Gl % 14
i 1
4 =R FhE & #) - G —— Ky KR U %% 15
T1-546 = 0[T2-2
0 — 2
5 b HA U ) — e Rk BV GaFH) 16
4 2|1 6 0|T2-6
. . . Ti-10{0  TI7LL o qiTo-g s N
6 HO K (B H) 1 JIE Bife G w17
4
T K EHh (3 V) — =R A K ) 18
T1-2)6 6fT2-7
1 0
8 T i () — - — R 2E R 19
T1-943 6fT2-3
3
9 Lk HF (R Jf) B o R EM IR#E) 20
I'1-3)6 3|T2-10
0 5
10 7EF Bk R ) — L g F1 B 21
T1-747 6fT2-4
0 0
11 /Nl Far FHFHE) —— 0,1‘278—%)?*)52 2 (1) 22
5
25 B (m #H) 23

U7 : PEdE OKER (PRI o)
BhL . =k M E (4

®F FEAEF

ofr : teg FERL (W) 8fi: R RE (EHE)
SRt IR BiAE (whiiiss)  BAL ik P35 (AR

i Bl OB (FE)
SAL : EEE M (ORER)

LBHL FRit GiED R BhoE GRFT) 14
T1-6§6 0|1T2-7
0 6
2 R A (3 ) — M (%K) 15
T1-1l6 7P 0|T2-1
0 6
3 €Mt (I — i L— s 3k G W 16
T1-1083 0|T2-11
2
4R 1 () # z — % EE Gt = 17
T1-2[0 o 10T2-2
6 & 5
5LLE R (W ) j - TE T (i B 18
T1-710 i 0|T2-8
6 4
6 F I CES ) o — @ 19
T1-3]0 01T2-3
5 _ - _ 6
T e Gl ) j TR Tf!33 qer L— s mz (W 1) 20
8 Ehh VX Ut f —— MR ST (fff J50) 21
T1-810 20T2-4
6 1
9 B WA G L &g (& B 22
T1-4]0 AMT2-9
6 1
10 558 Ak G i) —Fa zpE Gt T) 23
T1-11 T2-5
0
11 R B Oh ) =y ) L fhgeR Een (REURD 24
12 B mE (yom) — — R (EHEB) 25
T1-946 T2-6
4 6
13 /N4 iZe e — — sk (7 E) 26
7AT2-10
[0}
E OWEES O ) 27
Vi BHL AR WIED  of: BN S (FEED AT BAS Rk (GRERISE)  ofrc [EE IBZE (RN

=

5L : &3k FIE (GWWS)  ofr : R mEE (AR iz R BRE UM 5 : BRI IERK GEIR)



TH2EE FRESF

*.I_
N

FEEFERE BR—

ZFEANR 141 (A5 WMECEER) 265 (1A BZECHE) 36 |EBK A (KE)

BFEAR 141 [BEifE RCER) 26i: |B% Ak Chigms) 36 B BERGAOY)

ZFEAEF 140 |[fEE KECPEEE) 2fii: |tbE ERCHER) 36: O XEEE) 3L: |BE EEE)
EFEAMEF 141 |FEALFRE FIR) 26 |71l SE(FRIR) 36i: |BE AR CGhiEmE) 3fi: |EE BZEChERE)
ZFHAEF 162: il iR 2fi: |51 & 3 |5 B 3fL: [HiEEE

B FHEAEF 142: |51 R 201 |fBE 36i: |5 B 3fi: |EBETE




